=
T

B

=EE

CRMD
MY 8= 3D FSHsHHNLr/s
st S |4

. 2N-BH.g (enn) ku Ael - By mwou . %g%
= AT 12,934,254 12,664,601 269,653
= 10,666
7| 8,016,174
[ 4,907,414
=60 ®2 x| E(SNLLMN/ Y - 5&) 12,902,252 12,617,121 285, 131
= 10,666
7| 8,016, 174
[ 4,875,412
59 HE3 |4 905,800 899,400 6,400
B2 BOFXIA (2B ) 20,000 20,000 0
308 XtXISHXISOI & 20,000 20,000 0
01 IXISHBAREZ 20,000 20,000 0
OBt SOHKIMAFOHE K 20,000
82 EXNZ3 173,600 113,600 60,000
202 04 Hl 7,000 7,000 0
01 =LH01H 7,000 7,000 0
o8te ZEENZ3 ALEF 7,000
308 XHXI XIS 0| & 166,600 106,600 60,000
01 RIXSHBAEER 166,600 106,600 60,000
oste Za 123 166,600
A SHEMCS IXIMD 432,200 485,800 A53,600
308 XHXISHH SOl 432,200 485,800 A53,600
01 IXISHZABEZ 432,200 485,800 53,600
OEEEUCE IH}XHD 432,200
LRASMNSTHR2EY 40,000 40,000 0
307 2120} & 40,000 40,000 0
04 DIZFSHAIAIRI X 40,000 40,000 0
oUA=NE mRE[Y 40,000
HeZY S 82 Al #8435 240,000 240,000 0
308 XtXISHXES0I ™ 240,000 240,000 0
01 X SHHBAEEZ 240,000 240,000 0
OHEZXY OIS st24AH A3 240,000
Uiz . = - AN MY BN 222,250 226,050 A3,800
7| 5,625
< 216,625
%A =I} J|EEE HSAIE X 39,000 48,000 A9,000
403 XIS E X201 39,000 48,000 A9,000
01 XIS EEX 39,000 48,000 A9,000
OUASI JIZH3 AL X 39,000
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A AT
HE: B4 M2 2D AEH(SUHLLL/5Y - 58)
Bl Us - AE - SANY |4 (er9l:&®)
EVRE- -E#‘-?—l(ﬁlﬂl)- ENE - Bas of a¢ e DS
o = = i = i o = . G S Sl ‘
oo Fgery 1a 46,000 57,300 211,300
308 XA SO0l & 46,000 57,300 211,300
01 AXESHBL4ExS 46,000 57,300 411,300
ORAIMNEXNA 46,000
HdHSE B dAE 100,500 114,000 213,500
202 04 I 6,000 6,000 0
01 =LHOIHI 6,000 6,000 0
OFIJLE Y TS PRFAN 6,000
308 XtXIEHH SOl & 94,500 108,000 213,500
01 AXSHBLEXS 94,500 108,000 213,500
OHRIMNY X3 94,500
X ZHsHIEY ILS4NNA(MXEH) (=) 6,750 6,750 0
o] 5,625
= 1,125
308 R+XIEHH SO0IA 6,750 6,750 0
] 5,625
=S 1,125
01 AXESHBLEXS 6,750 6,750 0
OHXZHMs=HdE 34X E 6,750
Jl 5,625
LS 1,125
HEF IIBAE X 30,000 0 30,000
403 AXIHHSK=E01H 30,000 0 30,000
01 AXIESHIZEx 30,000 0 30,000
Oud=E JtSAE XI& 30,000
FTACHE 288 23 1,078,000 1,482,100 £A404,100
A S #FA 98,000 140,000 A42,000
403 MAXIHHSK20lH 98,000 140,000 £42,000
01 HXISHI=E X 98,000 140,000 A42,000
OgA=sIt &3 98,000
SMNESEEZY 31,500 31,500 0
403 TtXISHRSAH=0I™ 31,500 31,500 0
01 HXSHA=EXE 31,500 31,500 0
ONE=SE MEXE 31,500
Asg SUAE =¥ 340,000 325,000 15,000
403 TtXISHHSAH201H 340,000 325,000 15,000
01 HXISHI=EE 340,000 325,000 15,000
OXsE F&ANE XA 340,000
A JIsEs M2 N3 112,500 216,000 A103,500
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=5

Egaan;
4 M3 2|0 YESH SN LA/ s - =
FTA S 28 23

T

SA - ZH - EHS(S) - NIBAY - BES

Ol abo

403 XXM S =01

112,500

216,000

£A103,500

01 XXM AEEE 112,500 216,000 A108,500
OIIEE XM EHl XH 112,500
ZANZ THHY =0 R A TR 276,000 276,000 0
202 04 Hl 6,000 6,000 0
01 = 0dbI 6,000 6,000 0
OZMZHAD|B YR 6,000
308 MtXIEtHMSOIE 270,000 270,000 0
Ot IXSHHBAEXS 270,000 270,000 0
OZMEZ THHY =0 & &4t X 270,000
HE = ZAZ MEEX Al =4 120,000 90,000 30,000
308 XHXIEHXHISO0I® 120,000 90,000 30,000
01 IXHMBLEEES 120,000 90,000 30,000
OHE = ZAZ MHIEX AlHE=H 120,000
25N ZANE 438 X3 90,000 135,000 245,000
403 MHXISHHSA=01H 90,000 135,000 245,000
01 TXEHA=2EE 90,000 135,000 245,000
ORFA ZAE MAEH XA 90,000
ZESIH IME Mtlns X 10,000 21,600 211,600
308 XHXIEHHS0I™ 10,000 21,600 211,600
01 TXSHMBAEERS 10,000 21,600 211,600
OZEsI TAME MHlns X 10,000
FoMsI FEeE X 8,882,013 8,148,914 733,099
= 10,666
Il 6,888,708
S 1,982,639
ZESUNLN I 29 10,000 0 10,000
307 2i2t01A 10,000 0 10,000
02 QIZHBAMAMNHEE 10,000 0 10,000
oZIFMIALN Y X 10,000
ZEAFMF NS 180,000 162,000 18,000
308 A XIEHHSOIA 180,000 162,000 18,000
01 AXEHBEES 180,000 162,000 18,000
OF4FAUE N3 180,000
23 oY MY B 48,000 48,000 0
308 XHXIEHXMSO0IE 48,000 48,000 0
01 AXSHMBAEERS 48,000 48,000 0
OZ3 L&Y MY =Y 48,000
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Fy: 24y 2 1) YEH(sHAH LS/ - sE)
=

M- BB - GRI(S) - HEAY - BES olare Hims2

StMSOME (S1) 802,312 453,540 348,772
Il 636,578
= 165,734

308 XXX SO0l ™ 802,312 453,540 348,772
Il 636,578
< 165,734

01 XS HBLAEEZ 802,312 453,540 348,772
Osd SOHHE X 802,312
2 636,578
== 165,734

SOtAIE S 4X1(3D) 168,000 0 168,000
J| 140,000
< 28,000

403 XXM S X208 168,000 0 168,000
I 140,000
< 28,000

01 AXISHHMA2EX 168,000 0 168,000
Os0IAE & X 168,000
I 140,000
=3 28,000

=44 S0t 2EH2Y X 48,000 0 48,000
2| 40,000
= 8,000

308 XXM SO0l & 48,000 0 48,000
p) 40,000
= 8,000

01 AXSHHB S EES 48,000 0 48,000
osad a0 & 48,000
I 40,000
= 8,000

SE2Y S0g4ds(=0) 96,000 0 96,000
2| 80,000
= 16,000

308 AXIEMSO0IA 96,000 0 96,000
| 80,000
== 16,000

01 HXESHBLEES 96,000 0 96,000
O=s=2Z50t 45 96,000
| 80,000
= 16,000

SRRz AXNE(21) 2,413,104 2,283,644 129,460
I 2,129,210
& 283,8%

308 A XXM SO0IE 2,413,104 2,283,644 129,460
I 2,129,210
S 283,8%4
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RA: &
FA: S0y M3 2D AEM(sHHLSN/5Y - 5E)
e FM4sI gy R

— - — — ————

SN H -'é%(ilﬂl)’ HMSAY - S ' (m&w
eI ErCE T EXTERT 2,283, 644 129,460
03D RIA XY 2,413,104
9 2,129,210
< 283,804
NETHEE X 180,000 243,000 263,000
308 XHXIEHHI SOl & 180,000 243,000 63,000
0 AKSHBABES 180,000 243,000 63,000
ONEMHEE N 180,000
Bas0F 220 KR 129,004 129,024 0
308 XHEISHRIS 01 & 129,004 129,004 0
0 HKSHBAEEZ 129,004 129,004 0
O2M=I} £20| XY 120,004
AN EZB YES4 15,000 20,000 A5,000
308 Xt XI €+ HI S 01 & 15,000 20,000 A5,000
P EL ER L] 15,000 20,000 25,000
o2e EZZ YERA 15,000
CASEXR(2D) 10,666 11,200 A534
= 10,666
308 XHEIEHRIS 01 & 10,666 11,200 A534
2 10,666
0 KX HBAEES 10,666 11,200 534
OEANL2X & 10,666
2 10,666
JEIENSXR(2D) 30,000 22,520 7,480
9 30,000
308 XHXIEHRIS Ol & 30,000 22,500 7,480
9 30,000
0 MK HBNEES 30,000 22,520 7,480
OINEIIE NS X R 30,000
J| 30,000
EAAEHEUEH2D) 566,667 1,160,125 593,458
J| 500,000
= 66,667
403 RIS M S XH20I & 566, 667 1,160,125 593,458
Il 500,000
< 66,667
0l RS2 X 566,667 1,160, 125 593,458
OEAA &Y 3HALY 566,667
I 500,000
= 66,667
=AE20F TS 28 KR (KXSH)(2D) 700,000 400,000 300,000
Il 700,000
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Sais0t ¥

el

2N OR(30) - HSEAY - BaS Olaroy Che. | “Hasg

403 XX SIS XH=01& 700, 00! 400,000 300,000
| 700,000

01 XXM 2E X 700,000 400,000 300,000
OFAE0F ICT EEEXE 700,000
J| 700,000

TAN2MAME AIZEZIXRE XS(=1) 1,960,000 1,904,000 56,000
| 1,400,000
=S 560,000

308 XXM SO 1,960,000 1,904,000 56,000
7| 1,400,000
= 560,000

01 AXESHBLAEES 1,960,000 1,904,000 56,000
OZAZ MAE AelX HEXH 1,960,000
I 1,400,000
= 560,000

TAZMME SXFY XA (2D) 915,000 740,000 175,000
Il 915,000

308 XA SOIH 915,000 740,000 175,000
J| 915,000

Ol AXEHNBLAEES 915,000 740,000 175,000
OXAE Mg SN2 X 915,000
Il 915,000

TAE S22 X(=1) 77,760 97,200 219,440
| 64,800
< 12,960

308 XtXIEHHMSOIE 77,760 97,200 219,440
J| 64,800
== 12,960

01 IXEHBAEES 77,760 97,200 219,440
O=MNz EE22 X3 77,760
Il 64,800
= 12,960

HIUXEZLE I ASHFY K& (=2) 78,000 0 78,000
Il 60,000
=5 18,000

403 XXX S X201 & 78,000 0 78,000
I 60,000
== 18,000

01 AXSHHMAE=EEE 78,000 0 78,000
ONIHAEZHLEE JIHAY 7Y K& 78,000
Il 60,000
== 18,000

MU ZTHE MLXME ] (2D) 53,360 24,360 29,000
Il 46,000
= 7,360
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5 =R
M H4M4Y HF _..ID_ HESNsHLrM/se - 5F)
Ee: FRakso FEorE XA (e=:&8)
A a (sun) I:II‘='M% mgﬂ ol &t s HREY
308 IPII HHSOoIA 53,360 24,360 29,000
2l 46,000
= 7,360
Ol AIXHHBHEXS 53,360 24,360 29,000
ONZLX =& At2elX M= X 53,360
| 46,000
== 7,360
HI2LANELE XN XA (=2) 5,000 2,000 3,000
J| 5,000
308 AXIEHSOIA 5,000 2,000 3,000
J| 5,000
Ol IXSHZBAEEZ 5,000 2,000 3,000
OEEHA =248 SX+1E 5,000
J| 5,000
AT MEISAsE ZXNXZL XA (21) 22,120 33,901 211,781
J| 22,120
308 AXIEHSOIA 22,120 33,901 211,781
J| 22,120
Ol RXISHZBAEEZS 22,120 33,901 211,781
OutNMEi=a=sd =X X& 22,120
J| 22,120
ZAZHAEZ JIAFHRY XR(2D) 192,000 146,400 45,600
Il 120,000
< 72,000
403 M XIEH S X0l E 192,000 146,400 45,600
7l 120,000
== 72,000
01 HXtH2E2E 192,000 146,400 45,600
OZAMZ H&E I - FHIRY X3 192,000
| 120,000
== 72,000
FAUSE-EN 232 £X 14,000 14,000 0
307 g1zto| & 14,000 14,000 0
04 CIZHHALAIRY B = 14,000 14,000 0
O=EUE E-EN 2JE 41X 14,000
23 LESE™ME SLUA 845 168,000 100,000 68,000
308 AXIHHMSOIA 168,000 100,000 68,000
Ol AXeHBAEES 168,000 100,000 68,000
O3 LESSME LA 843 168,000
SHNE FE - otEd 2E 331,489 414,357 82,868
Il 276,241
== 55,248
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DR
DRMY MF D E
RS {Si’é* SN 2

‘='kl - qﬂ(mu) HI“M‘.;! s 0ff arod 2
§&§0| el IH(IPXICUHI)( 1) 331,489 395,957 A64,468
Il 276,241
S 55,248
308 AXIEHSOIH 331,489 395,957 AB4,468
Il 276,241
=S 55,248
Ol IXSHHIAEXS 331,489 395,957 A64,468
OFHEREH| 331,489
Il 276,241
[ 55,248
Asts S8 sS4 24 1,482,700 1,431,300 51,400
J| 845,600
== 637,100
s S 60,000 60,000 0
403 XX &M S X201 ™ 60,000 60,000 0
Ol AIXSHHA=2EE 60,000 60,000 0
osisE ##ZMd 60,000
IEER 018 248 106,900 106,900 0
202 OiHl 6,100 6,100 0
01 =L 0dbl 6,100 6,100 0
OJtsERr NS 018 FH 6,100
308 AXIEHSOIH 100,800 100,800 0
01 AIXHHMBMERS 100,800 100,800 0
OJIEER 018 43t 100,800
S50 SM 248 XJ 150,000 0 150,000
308 XA XIEHHSOIH 150,000 0 150,000
01 AIXESHHMBLEXS 150,000 0 150,000
OR&IJt SA 243 X 150,000
SHAS LU 28T SLEd =4 100,000 0 100,000
308 AHXIEHH SO0l A 100,000 0 100,000
01 AIXNHHMBMERS 100,000 0 100,000
OSHES LU &d FLEd =4 100,000
JERD EUHIS XY (21) 210,000 294,600 £84,600
Jl 175,000
S 35,000
403 XXX SAH=0lA 210,000 294,600 284,600
J| 175,000
< 35,000
Ol AIXESHHA2EE 210,000 294,600 A84,600
OI=ER & - HHIs A& 210,000
Il 175,000
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BA: SAD

Hu: Sa B2 HD YESH(SYHYLN/5Y - 58)
&@e: XNHdis aé% E=RA =P
SH-H 3 . r:wi(mu) kII M‘.ﬂ wgﬂ Ol ek
11 - 35,000
ISR WY aZY X|(=21) 486,000 600,000 A 114,000
J| 405,000
== 81,000
308 X XISHHSOIH 486,000 600,000 A 114,000
J| 405,000
T 81,000
01 AIXICHBAEEZ 486,000 600,000 A 114,000
OII=E2L HH|AILH| 486,000
Il 405,000
== 81,000
H=ERELR HFMES N (=21) 74,400 168, 000 293,600
| 62,000
T 12,400
403 XHXICHH S AH=201d 74,400 168,000 93,600
Il 62,000
T 12,400
01 RtXISH 22 E 74,400 168,000 293,600
QIIIEER YR AM4E 74,400
| 62,000
= 12,400
OHHI M EX K] (=21) 215,400 91,800 123,600
| 143,600
T 71,800
403 XtXICHHIS A0l 215,400 91,800 123,600
Il 143,600
T 71,800
01 RtXIEHHA2EE 215,400 91,800 123,600
QOIEERr MHIMEXE 215,400
Jl 143,600
& 71,800
oHy| 42X (21) 80,000 80,000 0
Il 60,000
= 20,000
403 XISt S X0l & 80,000 80,000 0
Jl 60,000
T 20,000
01 *XSHHA2EE 80,000 80,000 0
QIIEER YHIEE2XEZEH 80,000
Il 60,000
& 20,000
SHAMSHAL (SAHD)(JIEHIIE) 32,002 47,480 215,478
JlEadl 32,002 47,480 A15,478
2A29 I3l 32,002 47,480 15,478
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T HISAAY| (ST (JIEH/IIE)
EE

=8N

SN Y-SR - NEAY - BE] | oew | BHE | gasy

201 ¢Er2 g 20,60: 30,080 29,478

01 At 22/ ] 20,602 30,080 29,478
OFAN2Y AR 20,602

202 o4l 8,400 13,200 24,800

01 =LHOIHI 8,400 13,200 A4,800
OF A28 ZUOH 8,400

203 PR =& 3,000 4,200 21,200
EA2EYRFAH| 3,000 4,200 41,200
©15¢2! Ol&t 250,000& *12& 3,000
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